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@ B Calcular por cento dos niumeros

Nome: Encontro: Data: Pontuagdo:
26 X 20% = 72 %X 30% =
87 x 90% = 11 x 20% =
47 x70% = 72 x 80% =
86 x 30% = 90 x 80% =
4 x10% = 47 x 40% =
57 x70% = 74 x 40% =
42 x 50% = 32 x 60% =
58 X 50% = 44 x 10% =
5x70% = 3 x60% =
65 x 20% = 33 x 10% =
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Calcular por cento dos nimeros

Nome:

26 x20% = 5.2

87 x90% = 78.3

47 x70% = 32.9

86 x 30% = 25.8

4x10% =04

57 x70% = 39.9

42 x 50% = 21

58 X 50% = 29

5x70% = 3.5

65 x20% = 13

Encontro: Data: Pontuacao:

72 x30% = 21.6

11 x20% = 2.2

72 x 80% = 57.6

90 x 80% = 72

47 x 40% = 18.8

74 x 40% = 29.6

32 x60% = 19.2

44 % 10% = 4.4

3 x60% = 1.8

33 x10% = 3.3
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